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2) The word 'sibling' means -

1) a sister

2) an infant

v 3) a brother or sister
4) a brother

AN : Sibling 7T 133 FGTHIOR SBIAP @RI | GR CFd, sibling 7K1 [a brother or
sister T @RM | [source: Oxford Advanced Learner’s Dictionary]

3) Which of the following is a correct sentence?

v 1)
He was too clever to miss the point

2)
He was too clever not to miss the point

3)
He was too clever to grasp the point

4)
He was so clever to miss the point
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5) The antonym of the word 'delete' is

1) dull

v 2) insert
3) contract
4) discrete

AT : delete - G IM ST, TE P 5 dull - AT ERP 5 insert - FARTE IAT ; AT
FACET , contract - pf&Ta 1, FFH© IA1, ICAT|

6) P A3 §1d PO X 4x2-px+9 A K5 L?
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MU : 4x2-px+9 = (2x)? - 2.2x.3 + 32 + 12x -px
= (2x-3)? + 12x-px
oG AT R X, 12x -px = 0 |

S 12x-px =0
= px = 12X
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2) Uy
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AT = 80 \3 Y00 \IF FYITD! FAOH \3 J2TH (AP FRATI TUTFCH 85 \3 4| AT 5T = (8 +
$9) /3 = V%

8) Once in a blue moon' means

1) always
2) nearly
v 3) very rarely
4) hourly

A : The phrase ‘once in a blue moon' is an idiom that means something
happens very rarely or infrequently.

Come rain or shine - always

Close but no cigar - nearly

On the hour -hourly
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24) Fair weather friends' 13 3@ 2R6ATI FTRIPIE AT 26T QI 2

v 1) TR J1f
2) (TR (BT TSROl B3
3) 1o Ricd syaw A
4) 4THILAT TS

0T : 'Fair weather friends' - 13 3K AABER ITZIPIE IIREAT -6 - [LL FMiF |
(BT (TR ACS! ©I3 | = Birds of the same feather flock together.
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29) Cognizable' 03 I AT @072

1) 538

2) SRS

3) vm‘ﬁatmm
v 4) @1

YT : A5 - Actionable.
TR - Information.
(@1amo - Cognizable.

54 - Balanced.
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1) Honesty is the best policy
2) Honesty is a good way

3) Honesty is the better way
v 4) Honesty is the best policy

AT : ST T O \3 HCOIR WK feTd | Ynoa FRFST Saracrodym I ersim XT3 @oe
AW SIFISTR (WP A3 <) ARG 3R | 912 57marg 8aft «smiite «sjfnfa zremm
IRER 7[1T IBT SRR QsTd \3 (TR (S»dY) Al I 1205 AT $H PTG |
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41) | did not ---- his address

1) recollect
v 2) remember
3) remind

4) recall

AT : RO B TR /d 1 @RI remember (9 FT), G A J0d I QRIS
recollect (4K 1) IO 2.

| don't remember; but | can't recollect!

| do not remember his address.

W O 31 5 o 1R 1|

" Remember," " recall," " remind," and " recollect" are all related terms, but
they have slightly different meanings and usage. Here's a breakdown of their
differences:

1. Remember:

" Remember" refers to the ability to bring to mind information or experiences
from the past.It involves the act of retaining and retrieving past experiences
or information consciously. Example: " | remember our trip to the beach last
summer."

2. Recall:

" Recall" also refers to the act of bringing back or retrieving information from
memory. It is often used when you consciously try to bring back specific
details or facts that were previously learned. Example: " | can't recall the
name of that book | read."”

3. Remind:

" Remind" refers to the action of helping someone remember something. It
involves prompting or triggering someone's memory about a particular
event, task, or fact. Example: " I'll set an alarm to remind me about the
meeting."

4. Recollect:

" Recollect" is similar to " remember" and " recall" but often implies a more
deliberate effort to bring something to mind. It can suggest a process of
searching one's memory to retrieve a specific memory or detail. Example: "
I'm trying to recollect where | left my keys."

[ MASTER English, Cambridge English]



AN : Last night ¥R I050 past indefinite tense A X1 1 371 WATE did you do.
IN |

43) Verb of word able is ----

1
v 2
3
4

ability
enable
able
disable

N— N N N

4z "Able" (adj) (37%d) means having the power, skill, means or opportunity
to do something.

Synonymes: skilled, brilliant, clever.

The verb form of the word "able" is "enable" (37%d 7).

Noun= ability (3&%r)

adverb= ably, disable (9r%d)

44) He is engaged ----- writing book .

I : He is engaged - - - - writing a book I Xd581d X1 I - in. (@Td PICS T3
AT WY engage A9 'in' preposition I |

45) Water is flowing ---- the danger point.

1
2
3
v 4

up
an
above
over

)
)
)
)

1T : Flow over WY &= ey 213w 2837 |



46) | am one who loved not wisely but too well' is a quotation from ?

1
v 2
3
4

Milton

William Shakespeare
T.S. Eliot

Ruskin

)
)
)
)

AN : BRI BRED william Shakespeare 6 b0 A63'Othello' Tragedy' @
K PERA|

47) A bull market means share prices are -----

1
v 2
3
4

Fallinng
Rising
Moving
Static

N— N N N

T 1 (T ST ORI ISR CTINRA TS 2TQ ({00 IR AR HIge @1 @1 ORI el 1es 7
SHHE 'bull market' I |

48) The word 'Offspring' means

1) Twins

v 2) children
3) Strength
4) Winter

AN : Offspring - SB1H-5@S
Synonyms: children, progeny, brood,
Twins- T8

Strength- =&

Winter- Foare

49) Few know where he is' Here few is used as -----

v 1) Pronoun
2) adjective
3) Noun

4) Adverb



4 In the sentence, "Few know where he is, "the word "few" is used as a
Pronoun. It is used to refer to less persons whose identity are known from the
context.

[Master English]

50) An ordinance 'is

1
2
v 3
4

a newspaper journal
an arms of factory
a law

a book

N— N N N

AT : Ordinance e SR i, TmeeT ol «RkFR areeek oqy @ fagaaiis a [ifs
TR K1 2 O1F Ordinance I | RO WD AR SIKCE O Law IT Wacd oo 31
|

51) Who is the poet of Victorian age

1) Helen Keller

v 2) Mathew Arnold
3) Shakespeare
4) Robert brownig

74T : Victorian Period 1 @I g @13 I&198 A.L Tennyson, Mathew Arnold,
Chrles Diskense, Karl Marx, Alexander Dumas

52) What is the meaning of premium?

1) Contaminate
2) Condone

v 3) Best
4) Large

AN : Premium (adj) (S50 T1d AT A1 Af50eTs) means something given as a
reward, prize, or incentive.

Synonyms: reward, best, prize, incentive

Contaminate- 7¥0 31

Condone- Fd1 1

Large- 79

53) You are dull ----- hearing

1) after



T : Dull of-Trf @ITE31T 1 T G|
@&d-He is dull of understanding.

Dull at-SR FI6T

@dd-He is dull at physics.

You are dull of hearing.- (OTaR ZR™IG |
[OW53as Cambridge Dictionary]

54) What is the verb of significance?

1
2
v 3
4

sign
significans
signify
signature

~— N N N

T : Out of the given options, option C) signify is the verb form of the
'significance’.

Significance is a noun, Significant is an adjective, Significantly is an adverb.
sign- o

signature- ArFd

significans IeS GPICAT X1 (3|

55) What is the antonym of 'famous'

1
2
v 3
4

Opaque
illiterate
obscure
immature

S~— N N N

14T : Famous - RATG1 Obscure - WiE , [iums a1
lliterate- s

Opaque- T2

Immature- TR

56) GPIAIL AT orol?

1) farsy
v 2) CICICOTTT
3) QT



4) fory

-3

AT : 3376, 311, TR Q92 O1% wieet O R et Riegs sk 2mbid sterorn
AT T TG A5 \3 STl STG BrofEe 28T \3 TR (1o \3 (PRTG) dtd
o &ff

57) 2030 S SRos1RT i SR (@TUR 2772

1) \3RILG4
) TS
)
)

N

TS 3e

v 3 .
GIT)

4

AT 1 2030 HER TG A SRHAH TSI 2N AR AR Sy SRITA O
foRA® TACZ ARACET | LT (X2 TTH 2030) TS 300F TG 5T 7 SR
BN SR ATAPGIE 93 T BT 27|

515 ¢o IR TG TGS Wff 2T TGS 2MMfd SR | 9 TPFY \3 STy LA
SRR ST A1, I ANSOTIT [KRNST THA-SBTTR Q72 AT S ALTGATH A (eTo
AR THIH ([P AT TP T IR PISFO W51 TS |

58) RewT RPIPTo1 PoIT 2T U (PIAR TGO 22

T 2 500 S KT RIP191 foeT 21Ud TR @1 POt I | TR DO (W T3 00
L3 AP TSP SO TG 2| A3 RIIeof SO 5 7T Wex1s1ad I 3L 5IPoRd 20 S |

59) fsa @A 3T 2 QHTT TBEIRGS 1afs -- i, 9= @Ry T S
ii. DRI <TOTRICO 151 A BT 2
i, JTLETCHCT ST TR dvbd e 51e]

v 1)i\gii
2) i \3ii
3) ii \3iii
4) i,ii \3iii

A : {feg aeT sifaeor T [Rfea «fiarer omafs opforo Wrer ameenios I-s-3miarsy 3
WHTIG- 20T WSJT 2 | O3 IRAT-ITCSY \3 WHIG-2RICT- CFCa AT AR Ty BTG OP
S O @NT *rafo IR0 2|« ARECR @RS 2T G571 PISIMSR | P SRIRCH 2RI



oo AR TS AP T T |

SR XTOTRICO P AYT 1 “Fafod 270d PAT |
AREATCT S T TEAB, Sb S (WP @LT afs 515 IT |
WO, 3P BB i 3 ji

[Ours3as 51O I3, e ]

60) >0 TF 191 TFPT @TUT TGS T2

v 1) RO
2) Jreepl
3) A1fe31d

) G f&emTe

o

AT : 3T 197 FPCh 2030 6 SV ©F TS 19 {0 | | GITER U3 375 F19f f o
00 @ﬁﬂ Q WIKCO @a %\‘) { |

AT HIREATAT AT 7 FIATT (Ge AT T8 AR OACH Q10 Ao 1 A1k aft ke
STORON g U5 | Afb 2PE FRISISIER 258 213 FRATT forope {56 i oaffo | Fiar
YT P JOHTIR TR SG-7F (AP TR I-PBCH 2T 2¢eo h 41 kPO |

62) TFHZ PO AT DT NG P ?

AT : TP TEFANEA FETOR QNG AP0 IR 7l T 8 TETR 5V (SraferaIian
AR TRITOR TIFO R T PIRVADIE FLUAEK FOR 5RO | I- FUIE AT S
TAAO (O TP Sorfae facarm o1 = siar I3 FT \3 IRCSTS 305K e I 3L
TGS JIC aod 18 5799 I |

[OUT53a 8 TG




63) 0.000005 x 0,003 = ?

v 1) 0.000000%»H 00D

2) 0.00000500)

3) 0.0050>
)

4) 0.0000»0)

TN 1 ©,.00000) X 0,00

= 0,000000»00)

64) 5,€,9,55,59,b FRUTNSER -] LA P?

AT : << 730 FATT QST BR AR SR Il LA |
24 =Y

C+U=Dd

LIO=d9

55459=3b

SO AR A dA4+b=8¢

65) IS (IRTIR A5 21feT fGH 2¢ TP 7 @1 I 2t 2 2T ¢w TReT 7 Rrs $9e1 O
S 21?

NN : YA T TG = 2¢ TIhT

WRE, S 2T foF RFTge® = ¢w/2 = Tt

= I Fo8 RPTFET = @u/R = W TP

" TG = -3¢ = O TIT

¢ TIPTI &G 2 = O BT

) DIPRI &11G 3 = V¢ BT

. 500 TIOTI &G T = VX Y00/3¢ = O TRAT AT 5%



66) 2@ PR &1 -

v 1) Sb0° O3 G Q@R
2) Yb0° ] ST
3) Sb0° ] (G I
4) 0Yvo°

AT 2 Sbo° QT BT T UL VWo° U BT (b @ITT KGR NG|

67) FHICSTRTS 9Ped

v 1) arifae \3 sifaofm
2) o im
NEERGIS

) SRfAIRoRm

w

4

AT : TrH-@ 0 FAFB[ SICETS, PICE R SPeTaa! UfSRTd SIS Ay |
forICsTRTST QFed fo wrafasp, sfoiRm W3R FHIAICSTRTSRTR SToceR S TR 2P0 KR L3 Ol
0T 3] A0 T8I A TT 2ARTSICD @COT Q8 ARFOOER F0 APt 2ol FACE |
IGANA AR sTiaefin @ Resldl 2t “fRfbs 2e1\8 B 57 91 OF F@ d¢o IZ o[
(CGT \3 WRFHOER T3 fofd 51w 1 Risitar & Riurms f&e a1 | ik s1f{hs &e, avms
TOR 2R AR AR [Riga Rees Rifd SReod S Oed Q32 FRRIIRPOIE OR” SaP ST
TG T, FO 4T ABREDTE RE 190, TOR0 1P PEGIRP TR K TP AL
032 R QB3I 73 B YRPCS AME 132 5O, AP FOR S 5T A0S ATITSIH

B T4 Q32 HRIGDTE “MTeTd \3 XG> Q- TRITICR e oie, Ok S 20K |

WA B stfTafim a7 IR fFar « g o @ | o1 amb iaod faed Saart formesm=rs
O 936 RTescod R e 1 tdfior S a2 MR 5o fofacs sifido |
OISR TR et Bfatesfifers], Pythagorean tuning, PIAIGTRIGR ooy
FoI-8n¢ fAFGoR CTOICTE, wiAp 3orfet

68) 0 T FeIIP AT 5P

A @5ei= n/2{2a+ (n-1)d}
=20/2 {2.1 + (20-1).1}
=10*21

=210



69) SRR fIRrSR I IAF BSAMP IG T B2 FAE B F IR5T PITCAI SRR
|

1) >o00°
2) >80°
v 3)l80°
4) v8o°

AT+ SRR faerew 2AfSTh @1 vo fBfst | o QT I s P Beord IR @l=
Sbr0-wo = S0 TBIsT | T, @IaT T T e Ifs A BT @I {0 FAE = 504530 =
380 fofsy

70) BT STEPIN QTR STECPIT A IIEER S IATFCH Y (AT \3 br G e A7 (A
PO?

AT : AP0 AN fT TR ST FLAT ITTAI (S JATFCH Y ABIE0K AL b GIFOIAGR
- ST fTgrer CFawet = YR (SRIxTHol)
= YR (Yxb) I57 G = 8 I57 GIFLIIDK

71) 120 T Ao RISTG AT Q@IS 28 IR GBTD FAT YO T TR 217

v

—
(V4

>

N
4

w

¢

N
o U

)
)
)
)

AT : 73f0 SRATK TSI = 38
A0 LU HO TH,
WO SR = 28 - DO = 5O

72) 93Gd (e 8oo TG R (ST (GP 18 53 CTIGICET, (51 30 719 CINGICET?



ITATT : UNGIRM (TG (TRGTT = 800X 8 = HYOO = HWO0/5000 = ».Y [BIF

73) SRR @IsToet 60 \3 Ricmsreet 20 &, 247 730 2T

1) 353 25
2)153 45
3) 10350
v 4) 40320

AT a+b = 60 and a-b=20
now,

a+b=60

a-b=20

so, a=40 and b=20

74) ICR
i, BRID IR R™IR ST
ii. RIS @IS 2R AT
iii. FIR FRREE TP FARARGS I
fs s Siw?
1)i\3ii
2) i \3iii
3) ii \3iii
v 4)i,ii Siii

T -
TR TASCER SN A STy e SRS [o |

75) 5 G 500 1YF (TP LT Poi0?

AT 2 (A oo IF TP FRATSEAT TE - 3, 9, &, 9, O, DV, D4, O», 19, W, VY, Vq,
8Y, 89, 89, €U, &, YD, LY, 4, AV, A%, b, brd \3 »4|
6 ¢ T



76) A0 I A 7S ST TS OF CHFavs PO TJ?

1A : €3, I IR TS @ 9T
-, CFaPe g2 I5( PP
Qd, 059 1% ST T s =W k@ TP
", IO CHPare] [ = (Ra)} = 8ad
. CFaP JI0Y = 8aY/al = 8 B

77) a,b,c TP GNP X fAwa @A w2

AT 1 A, a,b,c TP FAGRed

a:b = b:c
b2 = ac

AT+ S RACAITHOR = 0.vR TBA
S JI3E = 5.u> PeAfioR

79) Q{0 0T AT 7/11 I e, a7 AR 0?2
zm%

v 1)
2)4
3)2«5@

)

4)© &Iy



AT 2 B AT = r I, A =2r = 7/11
AR = 2nr = (7/11)%(22/7)= 2 &I

80) (PRI ST e -

1) BPRIGS
PRI
GIE S|
IBICERES

AT : O 5K PO TOTNANCH DI IIACPIIARIR AT 2IE TRIFG | I3 @ronfar
HICRPTAR IQCZ. (PR, 3FTIATH \3 @RIGTNH-0K TG I PN Ao 2iToHS | oo
3 (ST 2NTTHER HAPTAIRN RPI-ST1EE B SCTTSMCTST IRFR ABTD \3EIHIZG, TT 2008

S 8 (PPN ARSI 2| T SIPTRATS TSI RPIRMITAR THRATTAT ORI P RT3
FIRAOOR ReeTd IR 210 TOACET Mo RA, ©Ifbd SR TRoR S 1L fFs Borer @ aem
TR faefia FEa|

[©x0553a8 JTATRG)]

v

N
~— ~— ~— ~—

3
4

TR IGR 2%d AR “WP$1 fd e [iFast acet oaRsis a3 fico s F=ds live.hellobcs.com


https://play.google.com/store/apps/details?id=com.hello_bcs.live_exam
live.hellobcs.com

